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Cost of Living Index

First Quarter, 2023
	Component

Weight Index
	100%
	13.89%
	27.53%
	9.55%
	9.20%
	4.31%
	35.52%

	City & State


	Composite
	Grocery
	Housing
	Utilities
	Transportation
	Health
	Misc.

	Jackson, TN


	86.0 (-14.0)
	96.0 (-4.0)
	71.3 (-28.7)
	84.0 (-16.0)
	90.8 (-9.2)
	88.1 (-11.9)
	92.5 (-7.5)

	Memphis, TN


	89.4 (-10.6)
	99.7 (-0.3)
	79.9 (-20.1)
	91.0 (-9.0)
	88.5 (-11.5)
	86.6 (-13.4)
	92.6(-7.4)

	Decatur, AL

	89.3 (-10.7)
	96.6 (-3.4)
	67.0 (-33.0)
	96.3 ( -3.7)
	90.2 (-9.8)
	79.4 (-20.6)
	94.9 (-5.1)

	Knoxville, TN


	86.5 (-13.5)
	99.3 (-.07)
	72.8 (-27.2)
	 95.9 (-4.1)
	90.5 (-9.5)
	89.1 (-10.9)
	88.0 (-12.0)

	Jonesboro, AR


	94.6 (-5.4)
	98.7 (-1.3)
	94.5 (-5.5)
	102.8 (+2.8)
	87.2 (-12.8)
	82.2 (-17.8)
	94.2 (-5.8)

	St. Louis, MO

	88.6 (-11.4)
	96.2 (-3.8)
	76.3 (-23.7)
	101.6 (+1.6)
	91.6 (-8.4)
	87.8 (-12.2)
	91.1 (-8.9)


	Louisville, KY
	96.6 (-3.4)
	100.8 (+0.8)
	   77.8 (-22.2)
	102.6 (+2.6)
	103.6 (+3.6)
	81.6 (-18.4)
	109.1 (+9.1)

	Savannah, GA
	91.6 (-8.4)
	102.4 (+2.4)
	73.3 (-26.7)
	87.9 (-12.1)
	98.3 (-1.7)
	112.3 (+12.3)
	98.2 (-1.8)
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First two (2) cities listed are located within a 60-mile radius of Lauderdale County.





The Cost of Living Index measures relative price levels for consumer goods and services in participating areas.  The average for all participating places, both metropolitan and non-metropolitan, equals 100, and each participant’s index is read as a percentage of the average for all places.  (Weights for component indexes appear above column headings - - e.g.,16% for Grocery items.)








Assume that City A has a composite index of 98.3 and City B has a composite index of 128.5. 


If you live in City A and are contemplating a job offer in City B, how much of an increase in your after-taxes income is needed to maintain your present lifestyle?


[City B (128.5) - City A (98.3) = 30.2% or about a 30% increase.









